SUSPENSION PARTS

-
Q
L
m
.

STEERING &

fjuo sasodind uonELWIOJUI 10j PAsSN 248 JUSLUNJOP SIY] Ul papn|oul ejep pue siaquinu jied ‘suondussap jonpoid ||y
“JIpi|5ELWIE 1B]ig 829pES 13[11aA aA LIB|BIBLUNU BIlEd ‘IIBjBLWUE)YISE UNIN WD) IEPUBLUNYOP NG X

SINALI MM3N




\/\ TXNOROT

STEERING &8 SUSPENSION PARTS

TEKNOROT REF: B-218

Control Arm and Ball Joint
2
Weight: 0,958 Length: 293  Bolt Metric: M14X1,5

MODEL NO BODY YEAR

Z4 G29 2019-

TEKNOROT REF: B-219

Control Arm and Ball Joint

Weight: 0,958 Length: 293  Bolt Metric: M14X1,5

MODEL NO BODY YEAR

Z4 G29 2019-

DIRECTION

Front Right
Lower

DIRECTION

Front Left
Lower

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

wber 2024

ADAPTABLE BMW

OEM NO

31106888154

ADAPTABLE BMW

OEM NO

31106888153



/
\} i Eﬁgﬂgﬁg I

TEKNOROT REF: B-104 ADAPTABLE BMW
Ball Joint

$
<

Weight: 0,364 Length: 62

MODEL NO BODY YEAR DIRECTION OEM NO
X3 F25 2010-2017  xearLtower 33326790493
Rearward
TEKNOROT REF: B-104 ADAPTABLE BMW
Ball Joint

2
-~

Weight: 0,364 Length: 62

MODEL NO BODY YEAR DIRECTION OEM NO
X4 F26 2014201  [xeartower 33326790493
Rearward

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



/
\)\ TeCNOROT

STEERING &8 SUSPENSION PARTS

TEKNOROT REF: CH-1308

Control Arm and Ball Joint

Weight: 4,01 Length: 355 Bolt Metric: M12X1,75
MODEL NO BODY YEAR
EQUINOX 3rd Gen 2018-
COMPONENTS NUMBER NAME
4 CD-1004 Ball Joint
TEKNOROT REF: CH-1308
Control Arm and Ball Joint
Weight: 4,01 Length: 355  Bolt Metric: M12X1,75
MODEL NO BODY YEAR
TERRAIN 2nd Gen 2018-
COMPONENTS NUMBER NAME
4 CD-1004 Ball Joint

ApArTABLE CHEVROLET

DIRECTION

Front Right
Lower

DIRECTION

Front Lower

OEM NO

84587018, 87821886

OEM NO

84722072%, 84722073

ADAPTABLE GMC

DIRECTION

Front Right
Lower

DIRECTION

Front Lower

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

OEM NO

84587018, 87821886

OEM NO

84722072%, 84722073*



/
\)\ TeCNOROT

STEERING &8 SUSPENSION PARTS

TEKNOROT REF: CH-1309

Control Arm and Ball Joint

0

Weight: 4,01 Length: 355 Bolt Metric: M12X1,75
MODEL NO BODY YEAR
EQUINOX 3rd Gen 2018-
COMPONENTS NUMBER NAME
4 CD-1004 Ball Joint
TEKNOROT REF: CH-1309
Control Arm and Ball Joint
Weight: 4,01 Length: 355  Bolt Metric: M12X1,75
MODEL NO BODY YEAR
TERRAIN 2nd Gen 2018-
COMPONENTS NUMBER NAME
4 CD-1004 Ball Joint

ApArTABLE CHEVROLET

DIRECTION

Front Left
Lower

DIRECTION

Front Lower

OEM NO

84587017, 87821885

OEM NO

84722072%, 84722073

ADAPTABLE GMC

DIRECTION

Front Left
Lower

DIRECTION

Front Lower

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

OEM NO

84587017, 87821885

OEM NO

84722072%, 84722073*



A TXNOROT

\\J STEERING &8 SUSPENSION PARTS
TEKNOROT REF: CH-1318

Control Arm and Ball Joint

Weight: 8,366 Length: 439  Bolt Metric: M16X2

024

ApArTABLE CHEVROLET

OEM NO

84973287, 85662943, 84729619

OEM NO

84973287*,84973286%,
84973285*,84973288*

apaPTABLE CADILLAC

MODEL NO BODY YEAR DIRECTION
SILVERADO 1500 TIXX 2019- Front Right
Lower
COMPONENTS NUMBER NAME DIRECTION
; Suspension
§ CH-994 Ball Joint Front Lower
TEKNOROT REF: CH-1318
Control Arm and Ball Joint
Weight: 8,366 Length: 439  Bolt Metric: M16X2
MODEL NO BODY YEAR DIRECTION
ESCALADE GMT1XX 2021- Front Right
Lower
COMPONENTS NUMBER NAME DIRECTION
; Suspension
~ CH-994 Ball Joint Front Lower

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

OEM NO

84973287, 85662943, 84729619

OEM NO

84973287*,84973286*,
84973285*,84973288*


84973287*,84973286*,
84973285*,84973288*

84973287*,84973286*,
84973285*,84973288*


TeCNOROT
\}STEERINGESUSPENSIDN PARTS 24

TEKNOROT REF: CH-1318 ApAPTABLE CHEVROLET

Control Arm and Ball Joint

Weight: 8,366 Length: 439  Bolt Metric: M16X2

MODEL NO BODY YEAR DIRECTION OEM NO
SUBURBAN GMT1YC 2021- Fr OL'; t VZ’E’ Nt 64973287, 85662943, 84729619
COMPONENTS NUMBER NAME DIRECTION OEM NO
: Suspension 84973287*,84973286*,
£ CH-994 Ball Joint Front Lower 84973285% 84973288*
TEKNOROT REF: CH-1318 ApAPTABLE CHEVROLET

Control Arm and Ball Joint

Weight: 8,366 Length: 439  Bolt Metric: M16X2

MODEL NO BODY YEAR DIRECTION OEM NO
TAHOE GMT1YC 2021- Fr (z’z)t M’;’fht 84973287, 85662943, 84729619
COMPQNENTS NUMBER NAME DIRECTION OEM NO
°

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm


84973287*,84973286*,
84973285*,84973288*

84973287*,84973286*,
84973285*,84973288*


TEKNOROT REF: CH-1318

Control Arm and Ball Joint

Weight: 8,366 Length: 439  Bolt Metric: M16X2

MODEL NO BODY YEAR DIRECTION
YUKON 5th Gen 2020- Front Right
Lower
COMPONENTS NUMBER NAME DIRECTION
Q; CH-994 SEZ'[I)/Z’:;OI‘” Front Lower

TEKNOROT REF: CH-1319

Control Arm and Ball Joint

ADAPTABLE GMC

OEM NO

84973287, 85662943, 84729619

OEM NO

84973287*,84973286*,
84973285*,84973288*

ApAPTABLE CHEVROLET

Weight: 8,366 Length: 439  Bolt Metric: M16X2

MODEL NO BODY YEAR  DIRECTION
SILVERADO 1500 T1XX 2019- Front Left
Lower
COMPONENTS NUMBER NAME  DIRECTION
e orooa | SUPNSON Lot ower

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

OEM NO

84973286, 85662942, 84729618

OEM NO

84973287*,84973286*,
84973285*,84973288*


84973287*,84973286*,
84973285*,84973288*

84973287*,84973286*,
84973285*,84973288*


TEKNOROT REF: CH-1319

Control Arm and Ball Joint

Weight: 8,366 Length: 439  Bolt Metric: M16X2

MODEL NO BODY YEAR  DIRECTION
ESCALADE GMT1XX 2021- F rLO:,,tV éfﬂ
COMPONENTS NUMBER NAME  DIRECTION

Q; CH-994 SEZ'[I)/Z’:;OI‘” Front Lower

TEKNOROT REF: CH-1319

Control Arm and Ball Joint

Weight: 8,366 Length: 439  Bolt Metric: M16X2

MODEL NO BODY YEAR DIRECTION
SUBURBAN GMT1YC 2021- F Tgfv ’;ﬁ
COMPONENTS NUMBER NAME  DIRECTION

é Cro94 | SUSPOSION ot ey

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

024

ADAPTABLE CADILLAC

OEM NO

84973286, 85662942, 84729618
OEM NO

84973287*,84973286*,
84973285*,84973288*

ApAPTABLE CHEVROLET

OEM NO

84973286, 85662942, 84729618

OEM NO

84973287*,84973286*,
84973285*,84973288*



84973287*,84973286*,
84973285*,84973288*

84973287*,84973286*,
84973285*,84973288*


{5 TSXNOROT

J STEERING &8 SUSPENSION PARTS

TEKNOROT REF: CH-1319

Control Arm and Ball Joint

Weight: 8,366 Length: 439  Bolt Metric: M16X2

MODEL NO BODY YEAR  DIRECTION

TAHOE GMT1YC 2021- F rLO:,,tV éfﬂ
COMPONENTS NUMBER NAME  DIRECTION
Q; CH-994 SEZ'[I)/Z’:;OI‘” Front Lower

TEKNOROT REF: CH-1319

Control Arm and Ball Joint

024

ApArTABLE CHEVROLET

OEM NO

84973286, 85662942, 84729618

OEM NO

84973287*,84973286*,
84973285*,84973288*

ADAPTABLE GMC

Weight: 8,366 Length: 439  Bolt Metric: M16X2

MODEL NO BODY YEAR DIRECTION
YUKON 5th Gen 2020- Front Left
Lower
COMPONENTS NUMBER NAME DIRECTION
e Cro94 | SUSPOSION ot ey

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

OEM NO

84973286, 85662942, 84729618

OEM NO

84973287*,84973286*,
84973285*,84973288*


84973287*,84973286*,
84973285*,84973288*

84973287*,84973286*,
84973285*,84973288*


A TENOROT

p
\

Q@ STEERING & SUSPENSION PARTS
TEKNOROT REF: FO-158 ADAPTABLE FORD
Control Arm

Weight: 4,414 Length: 262

MODEL NO BODY YEAR DIRECTION OEM NO
EXPLORER U502 2011-2019  XearRight DB5Z5A804C
Upper
TEKNOROT REF: FO-159 ADAPTABLE FORD
Control Arm

Weight: 4,414 Length: 262

MODEL NO BODY YEAR DIRECTION OEM NO
Rear Left
EXPLORER U502 2011-2019 DB5Z5A804D
Upper

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



TEKNOROT REF: FO-208 ADAPTABLE FORD
Control Arm and Ball Joint USA Market

Weight: 1,86 Length: 190 Bolt Metric: M12X1,25

MODEL NO BODY YEAR DIRECTION OEM NO
Front Right RK620635, 7TE5Z3084R,
FUSION 1st Gen USA 2006-2012 Upper 6E523085C. 6£523084BA
TEKNOROT REF: FO-208 ADAPTABLE [ INCOLN
Control Arm and Ball Joint USA Market

Weight: 1,86 Length: 190  Bolt Metric: M12X1,25

MODEL NO BODY YEAR DIRECTION OEM NO
Front Right RK620635, 7E5Z3084R,
MKz Tst Gen 2006-2012 Upper 6E523085C, 6E5Z3084BA

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



&} e Eﬁw(f;mgﬁg Ant

TEKNOROT REF: FO-208
Control Arm and Ball Joint USA Market

2

Weight: 1,86 Length: 190 Bolt Metric: M12X1,25

MODEL NO BODY YEAR DIRECTION
6 GG 2002-2007 [ rontRight
Upper

TEKNOROT REF: FO-208
Control Arm and Ball Joint USA Market

Weight: 1,86 Length: 190  Bolt Metric: M12X1,25

MODEL NO BODY YEAR DIRECTION
MILAN 1st Gen 2006-2011 Front Right
Upper

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

ADAPTABLE MIAZDA

OEM NO

RK620635, 7TE5Z3084R,
6E523085C, 6E5Z3084BA

ADAPTABLE MIERCURY

OEM NO

RK620635, 7TE5Z3084R,
6E£523085C, 6E5Z3084BA



&} e Eﬁw(f;mgﬁg Ant

TEKNOROT REF: FO-209 ADAPTABLE FORD
Control Arm and Ball Joint USA Market

Weight: 1,86 Length: 190 Bolt Metric: M12X1,25

MODEL NO BODY YEAR DIRECTION OEM NO
Front Left RK620636, 7TE5Z3085L,
FUSION 1st Gen USA 2006-2012 Upper 6E573085BA, 6E523084C
TEKNOROT REF: FO-209 ADAPTABLE [ INCOLN
Control Arm and Ball Joint USA Market

Weight: 1,86 Length: 190  Bolt Metric: M12X1,25

MODEL NO BODY YEAR DIRECTION OEM NO
Front Left RK620636, 7E5Z3085L,
MKz Tst Gen 2006-2012 Upper 6E5Z3085BA, 6E5Z3084C

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



/
K)\ i ng(f;ﬂgﬁg I

TEKNOROT REF: FO-209

Control Arm and Ball Joint USA Market
Weight: 1,86 Length: 190 Bolt Metric: M12X1,25
MODEL NO BODY YEAR DIRECTION
6 GG 2002-2007 Front Left
Upper
TEKNOROT REF: FO-209
Control Arm and Ball Joint USA Market
Weight: 1,86 Length: 190  Bolt Metric: M12X1,25
MODEL NO BODY YEAR DIRECTION
MILAN 1st Gen 2006-2011 Front Left
Upper

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

ADAPTABLE MIAZDA

OEM NO

RK620636, 7E5Z3085L,
6E523085BA, 6E523084C

ADAPTABLE MIERCURY

OEM NO

RK620636, 7TE5Z3085L,
6E573085BA, 6E523084C



TEKNOROT REF: H-103 ApAPTABLE HONDA
Tie Rod

o EC——

Weight: 0,476 Length: 210  Bolt Metric: M14X1,5 Housing Metric: M18X1,5

MODEL NO BODY YEAR DIRECTION OEM NO
CLARITY 2nd Gen 2016-2021 Front 53521TRTJO1
TEKNOROT REF: HY-151 ADAPTABLE HYUNDA|
Tie Rod End

Weight: 0,79 Length: 192,5 Bolt Metric: M12X1,25 Housing Metric: M14X1,5

MODEL NO BODY YEAR DIRECTION OEM NO

GENESIS BH 2009-2014 Front Right 5682081550

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm




A TXNOROT

STEERING &8 SUSPENSION PARTS

TEKNOROT REF: HY-152
Tie Rod End

[ﬂ?

ADAPTABLE HYUNDA|

Weight: 0,79 Length: 192,56 Bolt Metric: M12X1,25 Housing Metric: M14X1,5

MODEL NO BODY YEAR
GENESIS BH 2009-2014
TEKNOROT REF: KI-636
Stabilizer Bar Link
Weight: 0,43 Length: 286  Bolt Metric: M12X1,25
MODEL NO BODY YEAR
RONDO RP 2013-

DIRECTION

Front Left

DIRECTION

Front Right

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

OEM NO

5682081500

ADAPTABLE KA

OEM NO

MS908110, 54840A4000



/
\} i Eﬁgﬂgﬁg I

TEKNOROT REF: KI-636
Stabilizer Bar Link

e =

‘V

Weight: 0,43 Length: 286  Bolt Metric: M12X1,25

MODEL NO BODY YEAR

CARENS RP 2012-2022

TEKNOROT REF: KI-637
Stabilizer Bar Link

Weight: 0,43 Length: 286  Bolt Metric: M12X1,25

MODEL NO BODY YEAR

RONDO RP 2013-

ADAPTABLE KA

DIRECTION

Front Right

DIRECTION

Front Left

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

OEM NO

MS908110, 54840A4000

ADAPTABLE KA

OEM NO

MS908109, 54830A4000



(\ TXNOROT

STEERING &8 SUSPENSION PARTS

TEKNOROT REF: KI-637
Stabilizer Bar Link

&—s

Weight: 0,43 Length: 286  Bolt Metric: M12X1,25

MODEL NO BODY YEAR

CARENS RP 2012-2022

TEKNOROT REF: LA-478

Control Arm and Ball Joint

Weight: 3,468 Length: 363,56 Bolt Metric: M16X1,5

MODEL NO BODY YEAR

RANGE ROVER L460 2022-

DIRECTION

Front Left

OEM NO

MS908109, 54830A4000

ApapTaBlE L AND ROVER

DIRECTION

Front Right
Lower
Rearward

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

OEM NO

LR152741



A TXNOROT

STEERING &8 SUSPENSION PARTS

TEKNOROT REF: LA-478

Control Arm and Ball Joint

Weight: 3,468 Length: 363,5 Bolt Metric: M16X1,5

MODEL NO BODY YEAR

RANGE ROVER SPORT L461 2022-

TEKNOROT REF: LA-479

Control Arm and Ball Joint

e
. S 5 Ak b 2
26 o

Weight: 3,468 Length: 363,56 Bolt Metric: M16X1,5

MODEL NO BODY YEAR

RANGE ROVER L460 2022-

ApapABLE [ AND ROVER

DIRECTION

Front Right
Lower
Rearward

OEM NO

LR152741

ApapTaBlE L AND ROVER

DIRECTION

Front Left
Lower
Rearward

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

OEM NO

LR152742



/
K)\ i ng(f;ﬂgﬁg I

TEKNOROT REF: LA-479

Control Arm and Ball Joint

i
e AR X = 2
- 4 1 d I N
20 e

Weight: 3,468 Length: 363,5 Bolt Metric: M16X1,5

MODEL NO BODY YEAR

RANGE ROVER SPORT L461 2022-

TEKNOROT REF: N-175K
Ball Joint Kit

ﬁ*\

N
5. @r=

Weight: 1,17 Length: 103,7 Bolt Metric: M18X1,5

MODEL NO BODY YEAR

CABSTAR F24 2006-2013

ApapABLE [ AND ROVER

DIRECTION

Front Left
Lower
Rearward

DIRECTION

Front Lower

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

OEM NO

LR152742

ADAPTABLE NISSAN

OEM NO

401609X50B



TEKNOROT REF: T-158

Control Arm and Ball Joint

Weight: 4,63 Length: 402,2 Bolt Metric: M14X1,5

MODEL NO BODY YEAR DIRECTION
COROLLA CROSS XG10 2022- Front Right
Lower
COMPONENTS NUMBER NAME DIRECTION
3 Suspension
“' T-1144 Ball Joint Front Lower
TEKNOROT REF: T-158S
Control Arm
Weight: 3,866 Length: 345
MODEL NO BODY YEAR DIRECTION
COROLLA CROSS XG10 2022- Front Right
Lower

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

ADAPTABLE TOYQOTA

OEM NO

480680A030

OEM NO

4333009C10

ADAPTABLE TOYQOTA

OEM NO

480680A030*

024



4333009C10


TEKNOROT REF: T-159

Control Arm and Ball Joint

Weight: 4,63 Length: 402,2 Bolt Metric: M14X1,5

MODEL NO BODY YEAR DIRECTION
COROLLA CROSS XG10 2022- Front Left
Lower
COMPONENTS NUMBER NAME DIRECTION
3 Suspension
“' T-1144 Bail Joint Front Lower
TEKNOROT REF: T-159S
Control Arm
Weight: 3,866 Length: 345
MODEL NO BODY YEAR DIRECTION
COROLLA CROSS XG10 2022- Front Left
Lower

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

ADAPTABLE TOYQOTA

OEM NO

480690A030

OEM NO

4333009C10

ADAPTABLE TOYQOTA

OEM NO

480690A030*

024



4333009C10


o/ a
\J\ TeCNOROT

TEKNOROT REF: TG-101 ApAPTABLE TOGG
Tie Rod End

Weight: 0,602 Length: 116,3 Bolt Metric: M14X2 Housing Metric: M16X1,5

MODEL NO BODY YEAR DIRECTION OEM NO
T10X 2023- Front B0601101110
TEKNOROT REF: TG-103 ADAPTABLE TOGG
Tie Rod

‘E“

O

Weight: 0,71 Length: 277  Bolt Metric: M16X1,5 Housing Metric: M16X1,5

MODEL NO BODY YEAR DIRECTION OEM NO

T10X 2023- Front B0601101110

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



A TXNOROT

STEERING &8 SUSPENSION PARTS

TEKNOROT REF: TS-288

Lateral Arm

Weight: 1,01 Length: 350

MODEL NO BODY

MODEL S

TEKNOROT REF: TS-288

Lateral Arm

e

Weight: 1,01  Length: 350

MODEL NO BODY

MODEL X

ADAPTABLE TESLA

YEAR DIRECTION OEM NO
2021- Rear Lower 142044100F, 142044100G
Forward
ADAPTABLE TESLA
YEAR ONLY
2021-
YEAR DIRECTION OEM NO
2015- Rear Lower 142044100F, 142044100G
Forward

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



A TXNOROT

STEERING &8 SUSPENSION PARTS

TEKNOROT REF: TS-288K
Lateral Arm Kit

FPEY

Weight: 1,326 Length: 350

MODEL NO BODY

MODEL S

TEKNOROT REF: TS-288K
Lateral Arm Kit

PEY

Weight: 1,326 Length: 350

MODEL NO BODY

MODEL X

ADAPTABLE TESLA

YEAR DIRECTION OEM NO
2021- Rear Lower 142044100F, 142044100G
Forward
ADAPTABLE TESLA
YEAR ONLY
2021-
YEAR DIRECTION OEM NO
2015- Rear Lower 142044100F, 142044100G
Forward

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



A TXNOROT

/\ STEERING &8 SUSPENSION PARTS

TEKNOROT REF: TS-318

Lateral Arm

Weight: 0,872 Length: 224,8

MODEL NO BODY

MODEL S

TEKNOROT REF: TS-318

Lateral Arm

Weight: 0,872 Length: 224,8

MODEL NO BODY

MODEL X

ADAPTABLE TESLA

YEAR DIRECTION OEM NO
2021- Rear Lower 142043599G
ADAPTABLE TESLA
YEAR ONLY
2021-
YEAR DIRECTION OEM NO
2015- Rear Lower 142043599G

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



/
K)\ i ng(f;ﬂgﬁg I

TEKNOROT REF: TS-318K
Lateral Arm Kit

>~ & ﬁi‘

Weight: 1,194 Length: 224,8

MODEL NO BODY

MODEL S

TEKNOROT REF: TS-318K
Lateral Arm Kit

O~ & ﬁy

Weight: 1,194 Length: 224,8

MODEL NO BODY

MODEL X

ADAPTABLE TESLA

YEAR DIRECTION OEM NO
2021- Rear Lower 142043599G
ADAPTABLE TESLA
YEAR ONLY
2021-
YEAR DIRECTION OEM NO
2015- Rear Lower 142043599G

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



(\ TXNOROT

STEERING &8 SUSPENSION PARTS

TEKNOROT REF: Uz-101 ADAPTABLE (JAZ
Tie Rod End

-

Weight: 0,47 Length: 81,8 Bolt Metric: M14X1,5 Housing Metric: M18X1,5

MODEL NO BODY YEAR DIRECTION OEM NO
PATRIOT 2005- Front Right 42000.046900-3414056-01
TEKNOROT REF: UzZ-102 ADAPTABLE (JAZ
Tie Rod End
"

Weight: 0,47 Length: 81,8 Bolt Metric: M14X1,5 Housing Metric: M18X1,5

MODEL NO BODY YEAR DIRECTION OEM NO

PATRIOT 2005- Front Left 42000.046900-3414057-01

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



2005-

2005-


TEKNOROT REF: V-103 apAPTABLE VVOLKSWAGEN
Tie Rod

o ——

Weight: 0,57 Length: 230 Bolt Metric: M14X1,5 Housing Metric: M16X1,5

MODEL NO BODY YEAR DIRECTION OEM NO

AMAROK NF 2023- Front 2HJ422818

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm





